The mean of normal probability distribution is 60; the standard deviation is 5.
a. About what percent of the observations lie between 55 and 65?

b. About what percent of the observations lie between 50 and 70?

c. About what percent of the observations lie between 45 and 75 ?

solution

a) 
    P(55<x< 65)   =  P(  55-60 /5  <Z  <  65- 60 /5) 
                           =  P(  -1   <   Z   <   1) 
                          =     2*.3413   =  .6826 
       that is  68.26% 

b) P(505<x< 70)   =  P(  50-60 /5  <Z  <  70 - 60 /5) 
                           =  P(  -2   <   Z   <   2) 
                          =     2*..4772   =  .6826   .9544 
       that is  95.44% 
c) P(45<x< 75)   =  P(  45-60 /5  <Z  <  75- 60 /5) 
                           =  P(  -3   <   Z   <   3) 
                          =     2*..4987   =  ..9974 
       that is  99.74%
